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1) TRADE THEORY

Question No. 1/ Question ID 191
What is the name of the angle marked as ‘X’ shown in the figure?

o ¥ famme e ) @ IR Wret &1 919 @ 82

hannel

(A) O Rake angle (Chosen Option)
3P WA (Chosen Option)
(B) O Chisel angle
EISNAYIK
(C) O Lip clearance angle (Correct Alternative)
I @I (Correct Alternative)
(D) O Pointangle
RIECANIG]

Marks: 2.00

Question No. 2 / Question ID 170
What is the name of the part marked as ‘X’ shown in the figure?

o # fezame X @ fRfgd mT 1 AW T 82

Marks: 2.00




(A) O Handle
gsa

(B) O Mixing chamber

(C) O Acetylene control valve
hcld dled
(D) O Oxygen control valve (Correct Alternative) (Chosen Option)
T $eld ared (CorfdboBitbiTatkeuDabe=Chaimnel

Question No. 3 / Question ID 38 Marks: 2.00
Which caliper has one leg with an adjustable divider point and the other leg bent?
o el & wep A1 H TeeTR e f¥argeR uige B ¢ SR GRRT A ST g B 7
(A) O Jenny caliper (Correct Alternative)

(Correct Alternative)
(B) O Spring joint caliper
BT arge
(C) O Outside caliper
3TICAZS HATIR
(D) O Inside caliper (Chosen Option)
IIISS PHlWR (Chosen Option)

Question No. 4 / Question ID 206 Marks: 2.00
Which indicates the strength of the bond in the grinding wheel?

S AT gie H §U B dibd I $7d HRar 87




(A) O Grade (Correct Alternative)
Us (Correct Alternative)
(B) O Grain size
U BT DR
(C) O Grid

(D) O Structure (Chosen Option)
T (Chosen Option)

Question No. 5/ Question ID 311 Marks: 2.00
Which is used for locating the holes in the assembly shown in the figure?

o & gt U Ao o fvgl &1 udl @ & fore [T SuainT fabar Sirdr 87

hannel

(A) O Nut
I
(B) O Bolt

(C) O Screw

K3
(D) O Dowel (Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)

Question No. 6 / Question ID 161 Marks: 2.00
Which welding hand tool is used to hold and manipulate the electrode?
ZATRIS P UH S 3R gXBR B & ol [y afee &8 ¢at o1 IuanT farar Sran 82
(A) O Earth clamp
gt
(B) O Electrode holder (Correct Alternative)

5@\3@3’ gesy (Correct Alternative)

(C) O Spring loaded clamp
ST dres &I




(D) O Tongs (Chosen Option)
cl<Y (Chosen Option)

Question No. 7 / Question ID 114 Marks: 2.00

Why acid tanks are made of lead sheets?
TRYS ¢ oS 2 I i §91¢ 1 62
(A) O To avoid leakage

feqra § s99 & forg
(B) O Highly resistant to abrasion

o Ufel Srcafeies gfoRie

(C) O To protect against oxidation

TR ¥ g o forg
(D) O To protect against corrosive (Correct Alternative) (Chosen Option)

YRS 4 T & ﬁl‘E (Correct Alternative) (Chosen Option)

Question No. 8 / Question ID 195 Marks: 2.00
Which letter specifies the largest diameter of the letter drill?

DI T 3R AR 3T S qad 98 o &1 Ay Frar g2
(A) O m

(B) O Z (Correct Alternative) (Chosen Option)
Z (Correct Alternative) (Chosen Option)

C)O A
A
D)o O
o) Global iTi YouTube Channel
Question No. 9 / Question ID 319 Marks: 2.00

What is the availability percentage , if the machine is available to run 20 hours but has only run for 15
hours?
g AR 20 ©¢ I & T Iuas §, AT dhad 15 €< 1 9ail &, df el UiI=Id ol g7
(A) O 50%
50%
(B) O 25% (Chosen Option)
25% (Chosen Option)
(C) O 75% (Correct Alternative)
75% (Correct Alternative)
(D) O 57%
57%

Question No. 10 / Question ID 80 Marks: 2.00
What is the name of the part marked as ‘X’ shown in the figure?

o  fezame mu x @ fRIfgd ymT 1 W R’ g




(A) O Drill chuck (Correct Alternative)
f%?r d®P (Correct Alternative)
(B) O Depth gauge and stop
3R w&Iq

C) O Eg%d%g;‘[d'e Global iTi YouTube Channel

(D) O Driving motor (Chosen Option)

13T AR (Chosen Option)

Question No. 11 / Question ID 269 Marks: 2.00
What is the name of the part marked as X’ shown in the figure?
X' feIfed WY &7 19 T 8§72




(A) O Crown wheel (Correct Alternative)
W13 ®Id (Correct Alternative)

(B) O Body
EIS])

(C) O External jaw
il
(D) O Back plate (Chosen Option)
@e (Chosen Option)

nel

Question No. 12 / Question ID 143
Which spelter is used for brazing of gold ornaments?
T & STYYUT B TR & e fory Weex &1 IUANT a1 ST 872
(A) O Silver solder (Correct Alternative) (Chosen Option)
Tqies (Correct Alternative) (Chosen Option)
(B) O Tin lead solder
fe oS AR
(C) O Copper solder
DR
(D) O Lead solder

Marks: 2.00

Question No. 13 / Question ID 280

Marks: 2.00




How many types of bed ways are in the centre lathe machine?
Yoz Ay A H fobd TPR & 98 3 Bid 872

(A) O 3 (Correct Alternative)
3 (Correct Alternative)
B)O 5
5
C)O 4
4
(D) O 2 (Chosen Option)
2 (Chosen Option)

Question No. 14 / Question ID 249 Marks: 2.00
What is the reading of vernier micrometer shown in the figure?

o 7 fewmu U afeR AgwiHieR o1 uTsdie T 87

nel

(A) O 9.923 mm
9.923 mm

(B) O 9.763 mm
9.763 mm

(C) © 9.563 mm (Chosen Option)
9.563 mm (Chosen Option)

(D) O 9.963 mm (Correct Alternative)
9.963 mm (Correct Alternative)

Question No. 15/ Question ID 39 Marks: 2.00




Which is a soft skill?

HH-I1 Wite hd g2

(A) O Teamwork (Correct Alternative) (Chosen Option)
q& (Correct Alternative) (Chosen Option)

(B) O Marketing

©) O Cgpywriting
BIURTSICT

(D) O Plan.ning

Question No. 16 / Question ID 149 Marks: 2.00
What is the function of AC welding transformer?
T afcET eReTR &1 w1 ' 82
(A) O It changes to high voltage and high current ampere (Chosen Option)
I8 I dieed 3R I YRT TR & g6 STdT 8 (Chosen Option)
(B) O It changes to low voltage and high current ampere (Correct Alternative)
g HH diees 3R I URT TR § e Srdr ? (Correct Alternative)
(C) O It changes to high voltage and low current ampere
Ig 3 dlecd R $HH YR THURR F gad ordl §
(D) O It changes to low voltage and low current ampere

g ¥ dieel 3R HH YRT TR § §&d ST 8

Question No. 17 / Question ID 109 Marks: 2.00
What is the name of the stake shovelin th

fom & foaTe U R &7 A1 R 22 obaﬁ tH’?@%uTube Channel




Channel

(A) O Funnel stake
B Wb

(B) O Round bottom stake (Correct Alternative) (Chosen Option)
ISS JicH KH (Correct Alternative) (Chosen Option)

(C) O Half moon stake
B T WH

(D) O Hatchet stake

LECRSE]

Question No. 18 / Question ID 83
How can a wide range of depth be measured using a depth micrometer?

S ATSHIHIER BT JUTNT HP TERTS B! [ 4RI 1 H HIUT ST FeblT 872
(A) O Lengthy sleeve

b GRI
(B) O Lengthy spindle

I€d & gRI
(C) O Adjustable base (Chosen Option)
JAY o o gIRT (Chosen Option)

(D) O Use of extensmn rods (Correct Alternative)

TIW PT IUANT HIb (Correct Alternative)

Marks: 2.00




Question No. 19 / Question ID 252
What is the least count of the metric vernier micrometer?
Afee affaR ATEHIHIER BT SUaHD FT 82
(A) O 0.01 mm
0.01 mm
(B) O 0.02 mm
0.02 mm
(C) © 0.001 mm (Correct Alternative)
0.001 mm (Correct Alternative)

(D) © 0.002 mm (Chosen Option)
0.002 mm (Chosen Option)

Marks: 2.00

Question No. 20 / Question ID 56
What is the main advantage of adjustable parallel block?
TSSRead JHMIR Sl BT I A1 F1 82
(A) O To set different depth (Chosen Option)
faftra TIETFQC fAuiid s & forg (Chosen Option)
(B) O To set different angle
fafta Pior FAuiid =7 & fag
(C) O To set different height (Correct Alternative)
faft= Wrs: Feiiva w1 & forg (Correct Alternative)

(D) O To set different length
fafte dars Fuild s & fog

Marks: 2.00

Question No. 21 / Question ID 6
Why are ribs provided in the angle
TTd wie ¥ fieq &t §f oIt g7
(A) O Supports the machined surface (Chosen Option)

AiHIPd Y BT JUIE BT & (Chosen Option)
(B) O Provides squareness
AIDHRAT Ta BT &
(C) O Prevents distortion (Correct Alternative)
faw=yur & Adar % (Correct Alternative)
(D) O Provides flatness
FAAA] U™ BT §

gﬂ%lgal iTi YouTube Channel

Marks: 2.00

Question No. 22 / Question ID 303
What is the formula for the gear ratio for thread cutting on a lathe?
Y H IS BT & e R rurd &1 9 1 82
(A) O DRI/DN =TPI on lead screw / TPI to be cut (Correct Alternative)
DR/DN = TPl on lead screw / TPI to be cut (Correct Alternative)

(B) © DN/DR =TPI on lead screw / TPI to be cut
DN/DR = TPI on lead screw / TPI to be cut

(C) © DN/DR =TPI to be cut/ TPl in lead screw (Chosen Option)
DN/DR = TPI to be cut/ TPI in lead screw (Chosen Option)

(D) O DR/DN =TPI to be cut/ TPl on lead screw
DR/DN = TPI to be cut / TPl on lead screw

Marks: 2.00

Question No. 23 / Question ID 183

Marks: 2.00




Which operation enlarges the hole for a given depth?
B T SRR Tl €t 7% oIS & 17T 81 I I19T Rl 62
(A) O Reaming
3ife
(B) O Spot facing
ic BT
(C) O Counter boring (Correct Alternative) (Chosen Option)
PTIex T (Correct Alternative) (Chosen Option)

(D) O Counter sinking
B3R Rifdb

Question No. 24 / Question ID 222 Marks: 2.00
Which ore extracts zinc?
P T ST ST fApTeldT 82
(A) O Cassiterite

(B) O Calamine (Correct Alternative)
(Correct Alternative)
(C) O Galena
e

(D) © Bauxite (Chosen Option)
dIRIgC (Chosen Option)

Question No. 25 / Question ID 279 Marks: 2.00

What is the name of the portion between rqo; cr f the.thread?
e 71 e e e 5 i o A QB B, Y SuT ube Charinel
(A) O Thread angle

e ¥

(B) O Flank (Correct Alternative)
P (Correct Alternative)
(C) O Root (Chosen Option)
X>C (Chosen Option)
(D) O Depth
&)

Question No. 26 / Question ID 216 Marks: 2.00
What is the use of thread ring gauge?

U3 1 19 1 ITANT 1 62
(A) O To check the internal thread (Chosen Option)
HdN® YT B S PR & forg (Chosen Option)
(B) O To check the external thread (Correct Alternative)
18T YT B &g H31 & fae (Correct Alternative)
(C) O To check the external taper
B TR P ofid R o g
(D) O To check the internal taper
3{faRe TR B A B3 & oy

Question No. 27 / Question ID 234 Marks: 2.00
Which is the purest foan of an iron?
AR BT 99 g =0 DI 1372




(A) O Grey cast iron (Chosen Option)
U Sl Alel (Chosen Option)
(B) O Wrought iron (Correct Alternative)
ﬁ?ﬁ?ﬁﬁ (Correct Alternative)
(C) O Castiron
D] gl
(D) O Pigiron
O 3R

Question No. 28 / Question ID 116 Marks: 2.00
What is the name of the gauge shown in the figure?

for 7 feary 74 A &1 A1 A 82

e Channel

(A) O Feeler gauge
BIeR 9

(B) O Radius gauge
ESIRI

(C) O Screw pitch gauge

ICALERIE]
(D) O Standard wire gauge (Correct Alternative) (Chosen Option)
M dR A9 (Correct Alternative) (Chosen Option)

Question No. 29 / Question ID 130 Marks: 2.00
Which part of the combination set is used for marking and measuring angles within an accuracy of 1°?

TS TT BT B IT HET 1° DI Tlhdl & HiaR P10 & RIfRd B3 3R A0 F fore IuanT fovan Sirdn g2




(A) O Protractor head (Correct Alternative)
L'ﬁ%ﬂ?\’ TS (Correct Alternative)
(B) O Square head
W TS
(C) O Centre head
dR TS
(D) O Rule (Chosen Option)
Xl (Chosen Option)

Question No. 30 / Question ID 117 Marks: 2.00
What is the reading accuracy of the steel rule?
W = 31 QST wetavar w182
(A) O 0.5mm (Correct Alternative)

0.5 it (Correct Alternative)
(B) O 0.005mm

0.005 foret
(C) O 0.05mm

0.05 Tt
(D) © 5.0mm (Chosen Option)

5.0 foet (Chosen Option)

Question No. 31 / Question ID 298 Marks: 2.00
What is the advantage of cutting fluid in turning operation?

T SHTREA o ST WiZs &1 1 BIeT 872

(A) O Cools the tool and wor v
™ 3R THU B ST H?g'«ﬁé%gorrect eg?i%il?e annel

(B) O Will give poor surface finish (Chosen Option)
WRIE 9dg A= g (Chosen Option)
(C) O Increases the tool wear

FSERERIEEIEHL]

(D) O Increases the corrosion rate
HERUT GR delTT

Question No. 32 / Question ID 42 Marks: 2.00
What is the meaning of 'Seiri' in 5S techniques?
5S T 1 'Seiri' BT T 31 g2
(A) O Identifies storage
HERU B UedlA dxdl %
(B) O Operating procedures (Chosen Option)
WW Chosen Option)
(C) O Removes unnecessary items (Correct Alternative)
IFTITIH IEI3M B §eTdT & (Correct Alternative)

(D) O Cleans and inspects
HBTE D 5 3R FRIE01 BT &

Question No. 33 / Question ID 229 Marks: 2.00
What is the difference between the maximum limit of size and the minimum limit of size?

MR D1 ey AT 3R SMHR B YAdH W & S 7 3R 872




(A) O Upper deviation
3R farer
(B) O Basic size
Hel 3MThR
(C) O Limits of size (Chosen Option)
3MHR B! farffe (Chosen Option)
(D) O Tolerance (Correct Alternative)
1A (Correct Alternative)

Question No. 34 / Question ID 18 Marks: 2.00
Which part of the bevel protractor comes in contact with the inclined surface while measuring?
HIOd FHY dae Uigaex $T DI 1 HRT D! gs g b U H AT 52
(A) O Stock

wih
(B) O Disc
f&%p
(C) O Dial
S
(D) O Blade (Correct Alternative) (Chosen Option)
U (Correct Alternative) (Chosen Option)

Question No. 35/ Question ID 69 Marks: 2.00
What is the specific gravity for aluminium?

TegHifT & fore fafRy Tea T 82
(A) O 2.8 kglcm’ (Correct Alterrg§glal iTi YouTube Channel
2.8 kg/cm (Correct Alternative)
(B) O 9kg/lem’
9 kg/cm3
(C) O 8.5kg/lem’
8.5 kg/cm3
(D) O 2.6 kg/lcm® (Chosen Option)
2.6 kg/cm3 (Chosen Option)

Question No. 36 / Question ID 89 Marks: 2.00
What is the name of the part marked as 'X' in vernier caliper shown in the figure?

o # fezame v affeR e & X' 3 fafgd v &1 98 a1 82




(A) O Fixed jaw (Chosen Option)
Il (Chosen Option)

(B) O Thumb lever .
U AR Global iTi YouTube Channel

(C) O Depth bar (Correct Alternative)
dIX (Correct Alternative)
(D) O Beam

Question No. 37 / Question ID 25 Marks: 2.00
Which type of file is used to make the job closer to the finishing size?
Se &I AR 2T & S aF & o {69 TeR &1 Wigd &1 3ud f&ar S g2
(A) O Second cut file (Correct Alternative)
AP S He BISd (Correct Alternative)
(B) O Double cut file
Sd¢ hc BhIgd
(C) O Curved cut file
$Hce BHe B
(D) O Single cut file (Chosen Option)
T e BIsd (Chosen Option)

Question No. 38 / Question ID 142 Marks: 2.00
What is the name of the part marked as ‘X’ shown in the figure?

o A femme 7w o O fafgd HRT &1 9W |18




(A) O Caulking tool (Correct Alternative)
¢ d (Correct Alternative)

(B) O Dolly
STt

(C) O Fullering tool (Chosen Option)
¢d (Chosen Optioflobal iTi YouTube Channel
(D) O Rivet set

2) WORKSHOP CALCULATION SCIENCE

Question No. 1/ Question ID 341
What is the flow of electrons in any conductor?
forf dredex W Saiaei- BT UaTe 1 gidl 872
(A) O Resistance
Y
(B) O Voltage

(C) O Power

(D) O Current (Correct Alternative) (Chosen Option)
YIRT (Correct Alternative) (Chosen Option)

Marks: 2.00

Question No. 2 / Question ID 327
What are the two classifications of system of units?
IH13Y! B YS! & &l UBR DI 57
(A) O Gravitational and non-gravitational

TSETHYT 3R IR-THATHYUT

(B) O Metric and International (Chosen Option)

A 3R FeARAA (Chosen Option)

Marks: 2.00




(C) O British and Metric

3R difew
(D) O Fundamental and derived (Correct Alternative)
3R A (Correct Alternative)
Question No. 3 / Question ID 332 Marks: 2.00

Convert 0.456 decimal fraction into percentage?
0.456 GHd 33 1 UfcrId H Faferd?
(A) O 0.0456%

0.0456%
(B) O 0.456%

0.456%

(C) O 4.56% (Chosen Option)
4.56% (Chosen Option)

(D) O 45.6% (Correct Alternative)
45.6% (Correct Alternative)

Question No. 4 / Question ID 346 Marks: 2.00

What is the value of tan 45° if sin 45° = 1 / \2?
tan 45° fH o= BT, TS sin 45° = 142 B

(A) O

B .

B) O (Chosen Option) Global iTi YouTube Channel
(Chosen Option)

C)O

(D) O 1 (Correct Alternative)
1 (Correct Alternative)

Question No. 5/ Question ID 343 Marks: 2.00
What is the area of a rectangle, whose length and breadth are 10cm and 8cm respectively?

TS 3MTId T 8FHd o1 ghTT, forye! ol ud et »a: 10 9.41. ud 8 9.1t 82
(A) O 90 cm?
90 cm?
(B) O 85cm?
85 cm?
(C) O 80 cm? (Correct Alternative)
80 cm? (Correct Alternative)
(D) O 75 cm? (Chosen Option)
75 cm? (Chosen Option)




Question No. 6 / Question ID 340
Which is the unit of current?

YR BT SHTs FT 572
(A) ©O Ohm (Chosen Option)
(Chosen Option)
(B) O Watt
dic
(C) O Ampere (Correct Alternative)
(Correct Alternative)
(D) O Volt

Marks: 2.00

3) ENGINEERING DRAWING

Question No. 1/ Question ID 353
Identify the conventional symbol of material?

T & URURSD Udidh ol Ugam?

(A) O Steel (Correct Alternative)
SHId (Correct Alternative)
(B) O Porcelain
9t fredt

(C) O Glass (Chosen Option)

hId (Chosen Option)
(D) O Lead

Marks: 2.00

Question No. 2 / Question ID 348
|dentify the conventional symbol of material?

o | fexame U 9l & URURS Udie &1 Udl Time?

Marks: 2.00




(A) O Wood (Correct Alternative)

FHS (Correct Alternativgy| o hal iTi YouTube Channel
(B) O Lead

]

(C) O Paper
DTSl

(D) O Glass (Chosen Option)
&9 (Chosen Option)

Question No. 3 / Question ID 366 Marks: 2.00
Which single stroke inclined letter 'A' is correct as per IS standard?

IS AP b ATHR P IT RiTel Wieb afdhd dex ‘A’ Jgl 87




Global iTi YouTube Channel




(€)O

(Correct Alternative)

(Correct Alternative)

(D) O

(Chosen Option)

Global iTi YouTube Channel

(Chosen Option)

Question No. 4 / Question ID 350
Identify the name of set square?
Tc THRR BT A1 Gloi?

Marks: 2.00




(A) O 15° set square (Chosen Option)
15° ¥e WHTIAR (Chosen Option)

(B) O 30° set square
30° 9T WX

Global iTi YouTube Channel

(C) O 45° set square (Correct Alternative)
45° JT WPTAR (Correct Alternative)
(D) O 60° set square
60° YT WX

Question No. 5/ Question ID 361
|dentify the name of tool?
SUDIU] HT AMH Llstll"l".?

Marks: 2.00




(A) O Hawk-billed shear
gip-fad TR
(B) O Double cutting shear
S P DRl
(C) O Cutting plier (Correct Alternative) (Chosen Option)
qrelT IRl (Correct Alternative) (Chosen Option)

(D) O Aviation shear

3§91 L Global iTi YouTube Channel

Question No. 6 / Question ID 347
Identify the conventional symbol of material?

oz A fewme U grht &% URues Udie 1 Udl a?

Marks: 2.00




(A) O Concrete

(B) O Glass
i Global iTi YouTube Channel

(C) O Asbestos

(D) O Water (Correct Alternative) (Chosen Option)
iG] (Correct Alternative) (Chosen Option)

4) EMPLOYABILITY SKILLS

Question No. 1 / Question ID 576 Marks: 2.00
Which of the following should be avoided during probing?

Wi & R FRafafed & 3 fead s afeu?

(A) O Repeating

(B) O Listening carefully
& & AT

(C) © Summarizing
R

(D) O Interrupting the customer (Correct Alternative) (Chosen Option)
Ale P P TS BT (Correct Alternative) (Chosen Option)

Question No. 2 / Question ID 452 Marks: 2.00
Choose the correct context of the given expression in group discussion. "Excuse me, | would

gq%mqﬁ%qnq &@‘oﬂ@fﬁﬂﬁﬂaﬁgm "Excuse me, | would ”

(A) O Interrupting (Correct Alternative)
Interrupting (Correct Alternative)




(B) O Agreeing
Agreeing

(C) O Emphasizing a point
Emphasizing a point

(D) O Summarizing (Chosen Option)
Summarising (Chosen Option)

Question No. 3 / Question ID 534 Marks: 2.00
Which one is a search engine?

DI TP T Sl 872

(A) O Hvotmail

(B) O Face book

gD

(C) O Flicker

(D) O Google (Correct Alternative) (Chosen Option)
T[T (Correct Alternative) (Chosen Option)

Question No. 4 / Question ID 435 Marks: 2.00
are the qualities that are considered negative, and need to be worked on.

T 01 § e TPRIGTS HIHT o1 8 3R S IR B0 B3 1 Ma=aeha 8|
(A) O Opportunities

(B) O Personal Strengths

feRTTd dTehd] Global iTi YouTube Channel
(C) O Threats (Chosen Option)

TP (Chosen Option)
(D) O Personal weaknesses (Correct Alternative)

HfRITd HHSIRAT (Correct Alternative)

Question No. 5/ Question ID 404 Marks: 2.00
Fill in the correct question word. “ is the speaker at the function?”
ol Y Teg W | is the speaker at the function?”

(A) O Why
Why
(B) O What
What
(C) O Who (Correct Alternative) (Chosen Option)
Who (Correct Alternative) (Chosen Option)
(D) O When
When

Question No. 6 / Question ID 582 Marks: 2.00
What is the meaning of an entry level job?
Ut dad e &1 1 qdd |72
(A) O Itis a starting or junior level job (Correct Alternative)

g TP STl AT SR TR Bt AH B (Correct Alternative)
(B) O Security guard

RET U




(C) O Ithelps to enter the offlce (Chosen Option)
Ig Hrafad & Ua% B4 H HAeg Hdl § (Chosen Option)

(D) O Junior interior designer

AR SRR fEemsR

Question No. 7 / Question ID 561 Marks: 2.00
The expansion of GDP is
GDPHIORR ... gl
(A) O Godown Demand Product (Chosen Option)
Godown Demand Product (Chosen Option)
(B) O Giant Domestic Product
Giant Domestic Product
(C) O Grand Demand Product
Grand Demand Product

(D) O Gross Domestic Product (Correct Alternative)
Gross Domestic Product (Correct Alternative)

Question No. 8 / Question ID 501 Marks: 2.00
A computer system consists of

HYSR YU T ........... ek

(A) O hardware and software (Correct Alternative)
BTSAUR dYT GIteddR (Correct Alternative)
(B) O mouse and keyboard (Chosen Option)
T3 dYT HIEls (Chosen Option)
) O sgﬁware and program
AITCdTR qUT JH Global iTi YouTube Channel

(D) O circuit diagram
gidhe STUTH (3M1%E)

Question No. 9 / Question ID 472 Marks: 2.00
Which one is a good communication?
D I TH 3BT GaR 57
(A) O Receiver doesn't listen to sender
YYD &I gl -1

(B) O Message is ambiguous

TS BT 3RTY BT
(C) O Sender attacks receiver

U DT REGR TR gHaAT Al
D) O Message is clear and direct (Correct Alternative) (Chosen Option)

P I 3R oy EﬁT-IT (Correct Alternative) (Chosen Option)

Question No. 10 / Question ID 372 Marks: 2.00
The ability to do is
...... B B AT B |
(A) O Experience (Chosen Option)
31JHd (Chosen Option)
(B) O Job (Correct Alternative)
HTH (Correct Alternative)
(C) O Knowledge
EIG!




(D) O Skill

Question No. 11 / Question ID 457 Marks: 2.00
Gesture “biting nails” shows

"TRGA BT dTdl IA-HIG..................... Mg -
(A) O confidence
STATIY
(B) O insecurity (Correct Alternative)
(Correct Alternative)
(C) O defensiveness
ISEaREER]
(D) O boredom (Chosen Option)
CIREL (Chosen Option)

Question No. 12 / Question ID 489 Marks: 2.00
Gender stereotypes can be

o Sleafed g TP © ... |
(A) O harmful and hurtful (Correct Alternative)
3R Wl'd:f (Correct Alternative)
(B) O playful
EEN]
(C) O cheerful
O

(D) O personallty development n
Hfaicd fdb™ (Chosen Opg'} %aPH"l VouTube Channel

Question No. 13 / Question ID 497 Marks: 2.00
PIN is
PINT ....|

(A) O Personal Income Number (Chosen Option)
Personal Income Number (Chosen Option)
(B) O Professional Income Number
Professional Income Number

(C) O Personal Identification Number (Correct Alternative)
Personal Identification Number (Correct Alternative)

(D) O Professional Identification Number
Professional Identification Number

Question No. 14 / Question ID 387 Marks: 2.00
After receiving interview call, what is the next step?
HI&Teh TR DIed YUTtd & dlq, 3Tl haH ER:IT%?




(A) O Appear at interview (Correct Alternative) (Chosen Option)
TITPR | A 9 (Correct Alternative) (Chosen Option)
(B) O Send resume
gy Ot
(C) O Send application letter
PERIE
(D) O Prepare the resume

IR &Y

Question No. 15/ Question ID 381 Marks: 2.00
1st industrial revolution started in

Tgl! SN wifd & Lo ... |

(A) O 20th century
20 o F&

(B) O 21st century
2141 9!

(C) O 18th century (Correct Alternative) (Chosen Option)
18 oY It (Correct Alternative) (Chosen Option)

(D) O 19th century
19 9f wet

Question No. 16 / Question ID 511 Marks: 2.00
In MS Excel, collection of work sheet is known as

THTY URd H, 3 W H AUG BT ............ ST H IS |

(A) O Woffkaheet Global iTi YouTube Channel

(B) O excel book
TR gb
(C) O sheet work (Chosen Option)
e b (Chosen Option)
(D) O workbook (Correct Alternative)

aﬁa? (Correct Alternative)

Question No. 17 / Question ID 506 Marks: 2.00
CPU consists of

CPUH ......... gdgl

(A) O Storage device and ALU (Chosen Option)
WIS f&argy 3R TG, (Chosen Option)
(B) O Control unit and ALU (Correct Alternative)
a'@?r ‘{Iﬁ? (ﬁl’dﬁ'UT ng') 3R Q.Uc.Y, (Correct Alternative)

(C) O Input device and control unit

e f&arsy iR Fed giie (Fa0 331s)
(D) O Input and output devices

$YC 3R 3MM3cye fearsy

Question No. 18 / Question ID 547 Marks: 2.00
A wireless technology that connects a laptop to the internet is called

U GERAE dbd of AU Bl SeAc Aedt e weardiel




(A) O Source Network
HId Acadh

(B) O Bluetooth
&Y

(NQ) Desktgp

(D) O WiFi (Correct Alternative) (Chosen Option)
- tb‘lg (Correct Alternative) (Chosen Option)

Question No. 19 / Question ID 552 Marks: 2.00
As compared to small scale business, large scale business require
Y IGNT B! g H, TS TAM R TG BT 3MITIBATR oo
(A) O small machines and tools (Chosen Option)
Bt A= 3R IuwRur (Chosen Option)
(B) O less no. of persons
& ARl Bt
(C) © more no. of person (Correct Alternative)

3 aafeaal ot (Correct Alternative)
(D) O less no. of capital

& Guil i
Question No. 20 / Question ID 388 Marks: 2.00
Choose suitable “wh” word for the given sentence. “ animal do you like?”
fau U a1 o foe Iugad “wh” Qe A | ¢ animal do you like?”
opallill Youlube anne
RO mg Global iTi YouTube Channel

(B) O Which (Correct Alternative)
Which (Correct Alternative)

(C) O Where
Where

(D) O When (Chosen Option)
When (Chosen Option)

Question No. 21 / Question ID 379 Marks: 2.00
People from all religions or no religions are treated equally means

Tt ot 1 fopadt +ft end & Tl o 1Y qH SadgR gl fhar STar g ... AR o

(A) O secular country (Correct Alternative)
& ¢ (Correct Alternative)
(B) O religious
Tt

(C) O democratic (Chosen Option)
(Chosen Option)
(D) O non secular

&

Question No. 22 / Question ID 527 Marks: 2.00
What is the default name of newly created folder in windows?

IS & ST 77T 71T Bicex &1 fEWiee =19 1 8id1 872
(A) O New

q




(B) O New folder (Correct Alternative)
quﬁ@ (Correct Alternative)
(C) O Folder

(D) O Blank (Chosen Option)
| (Chosen Option)

Question No. 23 / Question ID 423 Marks: 2.00
can help me learn English.

TS ISt URe= & e o 9l g
(A) O shyness
H

(B) O fear
SX

(C) O dedication (Correct Alternative)
st (Correct Alternative)

(D) O anger (Chosen Option)
Y (Chosen Option)

Question No. 24 / Question ID 417 Marks: 2.00
Which one is in passive voice?
ST e & &1F 91 872
(A) O Mohan is painting a house.
Mohan is painting a house.

(B) O She was reading a book. (Chosen Optio
She was reading a book. (ﬁ ﬁb‘&b puTube Channel
(C) O Her birthday was celebrated by us. (Correct Alternative)
Her birthday was celebrated by us. (Correct Alternative)

(D) O I have seen that movie.
| have seen that movie.

Question No. 25 / Question ID 475 Marks: 2.00
Which one is NOT a benefit of oral communication?
. 3 o SN .
TP TAR (3IRA HRIFHRMA) BT B IT ATH ol 82
(A) O ltis direct
It is direct
(B) O Itis quick
It is quick
(C) O Iltis forrecord (Correct Alternative)
It is for record (Correct Alternative)

(D) O Feedback is immediate
Feedback is immediate




